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Module One: Review Questions rd Y Baa gl daa) s
1) What is not a part of the definition of finance o 3aldl G5 o gl iy yad (g 12 3 iy ¥ (53 L (1

according to Encarta® World Dictionary?

a) The money required to do something

b) The business or art of managing the
monetary resources of an organization,
country, or person

c) The money at the disposal of an
organization, country, or person

d) The totality of money earned and spent
by an organization, country or person

2.) When the monthly financial reports are

fEncarta® World
Lo oo Jand &a 32U U s (1
)i“)d}iw A% @L&l\d)\ﬂ\z‘)\dg\uﬂ)i&s(u
s 5l Algy ol dalaia (o peal cand 53 s sall JVseY) (z
)idh;ihkhdﬁoaw\jww\ywtw (2

UAM

created by organizations, they are made EYPe

public: dasSall g Cpaabisl (e JS0 (1

a) To both the shareholders and the Lo )2y Galaal (o
government b (paaluall (¢

b) Only to the board of directors Ladd 4o Sall (o

¢) Only to the shareholders
d) Only to the government

3.) Which of the following expression IS NOT on
the list of commonly used financial terms?

€alaa i) Aails L)

a) Equity A8l Gin (]
b) Balance o)l sl (@
c) Netincome dadll Gl (z
d) Liability lysad (3
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Clallaadll 408 8 B jae Gedd U @l el (e sl (4
faladiny) daild ALl

4.) Which of the following expression IS NOT on
the list of commonly used financial terms?

a) Capital
b) Income statement
c) Gross
d) Credit

5.) What is the role of CFO?

a) They use financial data to steer the
organization to the strategic vision,
mission, and goals of the organization

b) They ensure that the financial data is
accurate and create reports. In addition,
they analyze the information and help
the CEO make decisions

c) They use financial data to control
budgets of several departments and
business units

d) They use financial data to manage their
areas or business units

Jall Gl (]
Jaal gl (<«
¥ (z

oLyl (2

Sl paadl H50 8 L (5

500 ) dalaial) apa il Alal) UL () gerding  (
Ladaiall Calaa ¥l g ALa 1) g Auasil yiuy)

ALy | bl L) 5 Agllad) bl 38y (e aSU (o
G Osesdy ¢ lld )

A 8 sdanll Gt )l saelue s il sleall Jila (7
<l ) )

(ol Al jae (A oSaill Agllal) cllall o gadin (2
Jae Y1 claa g5 <l layl

las g o agilalia 5 ylaY ALl bl ) ety (o

sellac

o Y alae )50 2 L (6

Aadaid) e1a) 33 ga (s wanil Alal) bl seadig (i
6 AV Gl 3V 5 bl jualls ol gl e sl dlelia

O3 159 1) e yantl AL il ) 3ariis (o
e dile @iaas dal e a1 el i

Al € 13 Le sl Ll i) ) sediiny (7
Q_;l;j LA (a8 alaw e 5 )08

6.) What is the role of board of directors?

a) They use financial data to determine how
well the organization is doing and hold
leaders accountable for meeting budgets
and other obligations

b) They use financial data to determine if
they want to purchase stocks in hopes of
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Q)

d)

a financial return

They use financial data to determine if
the company is capable of paying back a
new or current loan

They collect financial data and record
them daily in computer systems for
compiling at the end of the month

7.) What is the role of American Institute of
Certified Public Accountants (AICPA)?

a)

This organization publishes the
statements of financial accounting
standards

This organization works with private
organizations to help set standards for
accounting principles

This organization publishes audit and
accounting guidelines

This organization deals with government
financial reporting issues

8.) Which of the following organizations also

handles new and unusual financial issues

that may have the potential to be a larger

problem in the industry?

a)

b)

Q)

United States Securities and Exchange
Commission (SEC)

Governmental Accounting Standards
Board (GASB)

American Institute of Certified Public

oo dS Ll 5 Al UL ey (a8 (2
el e B Leasandl i sunaSll Al

S(AICPA) 0 sl&l Gpalaall (S5 501 2gaall 552 58 e (7

Al adaall e iy Radaiall o34 s (|

b Bae Luall Aalal) clalaiall g daliiall 038 Jasd (0
Faudaal) (3l Jplae g

Fadaall 5 daa el ol Aaiiall o3a L5 (7

a sSal) ALl g ) Ll e Aaliiall 038 Jala (3

saadl Adlall Lladl) ae Wyl Jalacii 4000 cilalaiall (e sl (8
feliall & ST AShe ()5S a8 3l dgaladl e

(SEC) &S ¥ a5l s lLall (31,531 iad (1
(GASB) %aasSall Auladll julae pulas (<
(AICPA) o &l Cpaalaall (S5 56Y1 g2l (7
(FASB) Zlall ilad) julas Gulae (3
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Accountants (AICPA)
d) Financial Accounting Standards Board

(FASB)
9.) GAAP is the abbreviation for: Jobaisl 4 GAAP (9
a) The Generally Accepted Accounting Legee Ayl Aandad) (silse
Principles sle JSs LuiSall duulaall (sale (w0
b) The Generally Acquired Accounting Uaeall el dpulaall solie (z
Principles L el Aalall dplaall ggaleadl (2

c) General Adapted Accounting Principles
d) The General Acknowledged Accounting

Principles
10)) Which of the following IS NOT IGAAP el (& et oty ol b lae ol (10
included in GAAP rules? <lal WL Gl e Yl (\
a) Revenue recognition e ganl) A yall 2 53 Cyual (o
b) Balance sheet item classification saaall el cilalasyl 8 il (2
c) New accounting tendencies Aniuadll Laall ilE (2

consideration
d) Outstanding share measurement
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Module Two: Review Questions 1A Bas gl) daa) ya

1.) Balance sheets report:
a) The summary of the financial discussion
from meetings
b) The financial state of an organization
c) The plans for further financial actions
d) The costs and what is the money spent
on

2.) Balance sheets report:
a) The summary of the financial discussion
from meetings
b) The financial state of an organization
c) The plans for further financial actions
d) The costs and what is the money spent
on

3.) The companies usually create income
statements:
a) Monthly and yearly
b) Every day
c) Daily and weekly
d) Every six months

4.) Which of the following is not an expense

category presented in income statements?

A sand) 4l jaall s (1

cleleia¥) (e bl 2Ll jadle (I
alaiall ALl A (o

ALl e aY) (e 2 3ad bl (z
ade iy G JLls Gallsal (s

e gaall il Saall 5 (2

Clelaia¥) (e Ayl L8l adle (d
Aalanall L) Al (o

Ll Sle) 2 (e el laladll (2
adde i A Jlal s Callsall (o

sJaall bl Gl il aw L sale (3

Gsins Goed (I
e S (@

i gl s hae s (2
el A IS (o
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a) Taxes

b) Costs of goods sold

c) Operating expense

d) Expenses expected in close future

5.) Which of the following DOES the

statement of retained earnings NOT
include?

a) Beginning balance

b) Ending balance

c) Capital

d) Dividends paid

6.) Where do the statements of retained

earnings NOT appear?

a) On a balance sheet

b) On informal documents

c¢) On an income statement

d) On a separate financial report

7.) Which of the following is not a component

of the statement of cash flow?

a) Cash flow from investing

b) Cash flow from financing

c) Cash flow from operations

d) The future expected cash flow

8.) Which of the following statements is true?

ol pall (1

delud) gilal IS (o

izl oy e (z

Gl Jiisall 3 Al giall Cld g eanll (o

95 Jaiaall 2LV Ol daidy ¥ b Lae T (5
el Ay (0
Al a (@

Jul il (7
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e Al o e 350 Adle 58 bl (gamill 3axill (i

a) A negative cash flow is definite sign that ) ‘ Mu‘mj‘ <Ly
. . .\ .s “ . .LS“...\‘ S S\ "-\ -2 ..\ . w
the company is near of bankruptcy 0 oo iﬁ i\ j:: (~
. =)
b) A negative cash flow meéns that there s AL 13 o ) i) Gl iy (z
could have been a large investment et Y Wgise | b ol bl gaiill 8l (3
c) A negative cash flow means that the
company is doing poorly
d) A negative cash flow is not a reliable
indicator of anything
9.) Which of the following IS NOT a T sinall Rl il e e Gl b Laa 51 (9
component of the annual report? Gl (il ya i (I
a) Auditor’s report Jad) gl (@
b) Income statement dpnlaal alubd) (2
c) Accounting policies hall el a8 (2

d) CFO's report

10.) What does the annual report €5 sinall ol a3k 13 (10
provide? Labiiall oalall alall el ddais) e Jald 8 (1
a) A comprehensive report on the financial s pall 4yl L L) e el e (o
activities of the past year of an Aalaiall 4 gindl L) i) e Jals 8 (7
organization Aalaiall alall il ) 2l e ol o8 (2

b) A comprehensive report on an
organization’s annual financial profit

c) A comprehensive report on an
organization’s annual financial outcome

d) A comprehensive report on an
organization’s overall actions
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Module Three: Review Questions

1.) Which option is the result of the following
formula: Non-operating Income to Net
Income = non-operating income / net
income?

a) Shows the average profit generated per
person employed in the company

b) This ratio shows the relationship
between operating income and amount
of wages and salaries paid

C) Increasing ratios may mean that the
business is moving away from its core
business

d) Shows when net income is increasing
faster than wages (in dollar terms)

2.) Which option is the formula for the
following result: This ratio provides a way
for evaluating the efficiently of financial
management of the average dollar
invested in the firm's assets, and
determines if the dollar came from
investors or creditors?

a) Net Income to Assets = net profit
before taxes / total assets

b) Operating Income to Wages and
Salaries = operating income / (salaries
+ wages + benefits)

¢) Net Income Increases to Pay Increases
= change in net income / change in

AN Sas gl dxa e

ibia LU Ll e Jaal A Aasall da Go el (1
Jaall ila / el e Jaa = Jaal)

A58l 8 ey (ot IS Gl )l T gie pelad (1
Dy laall Jaal) o AR dpuill 038 a5 (2
de gaaall il sl ) saY)
Ll el e e 4S8 of Gl 30y ) w3 8 (7
DY) (e g ol JS Jaall s ol Lexie yelay (o
(LY sally)

Al 48 5k danill o388 g8 AU dagiill dapa e o el (2
¢AS i) Jgeal 3 pafiial) HY sall Jaus giad 4000 3 5)0Y) e liS
oAl o o paiieall e (1 A8 Y gall IS 1Y) Le aaat g

[ il pall 8 e ) ila = Jsa¥) Jao Gila (i

[ sl Jaal) = (il gyl s 5 sad sl Jaall (o
(We + osal + il )

Sila &l = il 3l adal il Jaal) @il (7
L el s sa¥ly il sl (A sl / Jaal

ilia = (calape JSU J20 i) Calise JSTZLY) (o
Cnala gall 2ae / JAAl
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salaries, wages and benefits
d) Profits per Employee (Net Income per
Employee) = net income / number of

employees
3.) Which option is the result of the following = Opadlusall paiill Blal) AUl Arpall dass e b il (3
formula: Cash Return to Shareholders = pedliaal) 3o [ llenl) G gl sl
cash flow from operations / shareholders @i Sle ) Jpal) e gl dlall L gl ) jady (]
equity? S
a) A higher cash return on assets ratio 4fing () Alall ) Cpanbiall ) ol Nlall 4ot 55 (<
indicates a greater cash return Oyaladd
. i A o A5 (oISl il 13 Lo el oda 233 (2
b) The cash return to shareholders ratio Y pad Zanl
indicates a return earned by JS Uil 450 48ins o) gy )l ke donll 038 ma s (3
shareholders Gilaall (e Y 2
¢) This ratio determines whether the fixed
costs are too high for the production
volume
d) This ratio shows how much profit the
company makes for every dollar of sales
4.) Which option is the result of the following o Al Al oda a5 AN daiil drpa e ol (4
formula: Cash Return to Shareholders = L) BeliS s A S 5 AS 5l e
cash flow from operations / shareholders Ji )l ila = il jual) g Uil Jd alell A (I
equity? Glagall / il juall
a) A higher cash return on assets ratio - Sileall (g (gaiill (gaaill) = 4ail @ gaall Aphas (2

Ol Maa) / (ZLo¥) Slag s
[ (i) Gl - Clagaall) = Aaalisal) iala dusi (2
Glaad)
indicates a return earned by Ciaggal ] ) aa) = Sleal) sl iale A (3
shareholders

indicates a greater cash return
b) The cash return to shareholders ratio

This document is a property of Asaseeyat Academy (Asaseeyat Academy is a service provided by Asaseeyat Consulting Service — COPY RGHT FROTECTED ©
©ihs sine adall (5 s - (R LiiuY) landll il AS 55 e Aedis Fadd clnlid $paST) Slaulil GuanlSY @l 285 5l) o3a

10



4 nn o
Mseeyat
cademy

Optimizing e-Learning

¢) This ratio determines whether the fixed
costs are too high for the production
volume

d) This ratio shows how much profit the
company makes for every dollar of sales

5.) Which option is the result of the following
formula: Cash Debt Coverage = (cash flow
from operations - dividends) / total debt?
a) This ratio shows the amount of total
debt in proportion to net income

b) This ratio shows the percent of debt
that current cash flow can retire

¢) This ratio measures the amount of cash
immediately available to satisfy short
term debt

d) This is the amount of assets that can be

quickly converted to cash

6.) Which option is the formula for the following
result: This ratio shows the number of times
that accounts payable are paid throughout the
year?

= ki) () goal) s A Aipall Aas e el (5
Ol (leal / (ZLoY) a5 5 - illeall e (gl 3l

Ha re ol Loy (aall (Jlaa) Jlaie Lol o3 e g (
Jaa)

2e iy o Sy Sl G spll A gial) Fowail) Tywaill 534 raia i (o
Slall sall )

sl gl e Uil ol alial) Al o34 (i (2
JaY1 5 e sl

38 ) Ao po Lebiad Sy Gl Jpal] laie 58 138 (2

23 Al 53 peaia i AN Al Adlaa e o) (6
bl lae e G5l aadll abs Lesd i Sl il

Jaall s / cpall Mea) = cpall J2o G (I
G snail] AL A0l (315 5N + il = day yud) Jseal) (0
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a) Debt Income Ratio = total debt / net
income

b) Quick Assets = cash + marketable
securities + accounts receivable

c) Acid Test Ratio = (cash + marketable
securities) / current liabilities

d) Accounts Payable Turnover Ratio =
total supplier purchases / average
accounts payable

7.) Which option is the formula for the

following result: This ratio measures the

degree internally generated working

capital is available to satisfy obligations?

a) Working Capital = current assets -
current liabilities

b) Working Capital Provided by Net
Income = net income - depreciation

c) Working Capital from Operations to
Total Liabilities = working capital
provided from operations / current
liabilities

d) Working Capital Ratio = current assets /

current liabilities

daall aedll +

AN ALl 81, Y + Laaill) = paeal) Hlidl A (g
A ghaiad) @il staal) / (J ghail

[ 2)5all Sl jida Jlea) = A8l clluall o) j g2 Ao (2
8l Al clboal) Jas s

5 a0 Al o (et A Al Ban e iyl (7

U ghaid) o seadll - A glaiall Jpa¥) = Jaladl Jlall - ({

- daal ila = Jaall dla (e paidl Jaladl Jlal Gl (2
Sy

= Gl sthall sl ) alledl e daladl JUl Gl (2
U ghaiall a adll / cilleall (e adiall Jaladl Jlall Ll

a sl [ A ghaiall J sal) = dalad) Jlall Gl ) A (2
 glaial)
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8.) Which option is the formula for the Sl ¢ AL spedl il 030 oo AN Anil Aldlee e 1) (8
following result: This ratio evaluates the a5 yuad o pall eligl e 5 )
liquidity, or ability to meet short-term aseadll [ A glaiall Jsal) = Jalad) Jlall Gl s (0
debts. A glaial)

= cilsllaall Jaa) I lileal) e Jaball JLal (5 (2
2 g1xiall o geadl) / illeall (o adiall Jaladl JLall Ll
- Jaall e = A il e ptiad) Jalal QW) il (7
ANy
b) Working Capital from Operations to A0l o gumtl = ALliall Jpead = el Ll i, (3
Total Liabilities = working capital

a) Working Capital Ratio = current assets /
current liabilities

provided from operations / current
liabilities
¢) Working Capital Provided by Net
Income = net income - depreciation
d) Working Capital = current assets -
current liabilities

9.) Which option is the formula for the DA A 0 G Al o3 ;A0 Asmill Alalaall LAY 58 L (9

following result: This ratio measures the Fbal VL ela sl Glala al giall delal) dull )

degree internally generated working Al ol - A1) e — e QL G (O

capital is available to satisfy obligations? LAl s = J2al) il (g piall Jelall QU1 ) (o
a) Working Capital = current assets - e

current liabilities = sl s ) cllasdl e dalad) Jlall 5 (7
b) Working Capital Provided by Net A ghaial) o peadll / cilileal) e axiall Jaladl Jlall (il
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Income = net income - depreciation

c) Working Capital from Operations to
Total Liabilities = working capital
provided from operations / current
liabilities

d) Working Capital Ratio = current assets /
current liabilities

10.) What is the result of using the Cash

Flow to Debt ratio calculation?

a) This ratio shows you by how much
assets can decline in value before it
becomes insolvent

b) A negative ratio indicates potential
financial problems

c) This ratio records net liquid assets
relative to total capitalization. This is the
most valuable indicator of a bankruptcy

d) This ratio shows potential insolvency
issues

PRI

£l ) (sl (3800 Ao s Aladinl daii o L (10

Ui Of Sy Al J el e dpuil) 028 ll i ({
b e sl O U8 giad

Alaine Al JSLiae ) Alod) dpndl) 5 (@

Slan) ) Ay AL J sl Lila dawil) 028 Jas (7
GO e SV yasall o 138 Aless )l

il jlue Y Ll Al 83 mua i (2
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Module Four: Review Questions tAag) ) Bas gl) Aaa ya

A Al e J peanll dendiod 53 Gl s o L (1
s shall saall e A el Lpnaail] LAl 5 gal) Aol o34 203

1.) Which ratio calculation do we use to get
the following result: This ratio determines

the relative financial strength and long-run
liquidity?
a) Stockholders’ Equity Ratio

Oatlisall (58 A (1
el o )l (Jea] (<
Ol Jlaay A gl J sl (7

b) Total Debt to Net Worth ped) (ala By i Bla (2
¢) Current Assets to Total Debt

d) Stockholder’'s Net Worth

#13e gl il Qb alasil aa 13 (2

Sl Ml Wl gl a4y (I

dgall Liiiall Sl oY) 2asy of (S asY (@
Aadaiall Al JSLEa Ja3 o S LY (g

Alall ) ¥ aie aslilly (Ko 4y (o

2.) Why is using the long-term analysis

helpful?

a) Because it shows the real current
financial situation

b) Because it can determine an
organization’s future financial
performance

C) Because it can solve an organization’s
financial problems

d) Because it can definitely prevent
financial damages

3.) What is the name of the ratio calculation okl s Gluad aeading (ol dpudl) Clus ol e (3

that we use for calculating the coverage S5 A e (|
Sl At e (@

a4l ds (g

Sl 3l A 86l (2

ratios?

a) Times Interest Ratio

b) Times Earned Ratio

¢) Times Ratio

d) Times Interest Earned Ratio
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4.) What does the coverage ratio show? fapkatll s el 1a (4
a) It shows how many times a company’s A5l 2l Ll ars of Sy 3l ) 20 gy (1
earnings can cover the fixed-interest JaV 5 jual Lgh o e Al sailall cile i

payments on its short-term debt AS Al Ll e e o (S Gl Sl jall 20 i s (0
b) It shows how many times a company's Ja¥) sk Leigoa e dnlil Bl e e
earnings can cover the fixed-interest Al 5 J8 el s (2

' s laa e Y (2
payments on its long-term debt G lee e Y (

) It shows the earnings before interest
and taxes
d) None of the above

5.) Which ratio calculation do we use to get AUl Aa il e J geaadl 4eadis gs'ﬂ“ donall Clus 8 Lo (5
the following result: This ratio determines fleisa oy ) Jsead) le Atll 08 223
how much of the assets are financed? AL Gsia ) cpall A (

a) Debt to Equity Ratio Ol A (o
b) Debt Ratio ALl 3 8s A (z

¢) Equity ratio oVl A (2

d) Assets ratio

6.) What do the leverage ratios calculate? Ll Ardl 1) s i 13l (6
a) The proportion of the owner’s O Lol s L Aanloss Ai (1
contribution and the contribution from Aalaiall Jy g 8 clllal) daalise (0
creditors Labaidl) ysai (A Gailall daalsa (z
b) The owner's contribution to the finance G lan e Y (2

of an organization
¢) The creditors’ contribution to the
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finance of an organization
d) None of the above

7.) What do the leverage ratios calculate?

a) The proportion of the owner’s
contribution and the contribution from
creditors

b) The owner's contribution to the finance
of an organization

¢) The creditors’ contribution to the
finance of an organization

d) None of the above

8.) What do the leverage ratios calculate?

a) The proportion of the owner’s
contribution and the contribution from
creditors

b) The owner’s contribution to the finance
of an organization

¢) The creditors’ contribution to the
finance of an organization

d) None of the above

9) is helpful in determining how

well the company is going to perform over
time.
a) Return on gross invested capital

aals 5l i L) dile lua g LI (7

lia Yoy Jle i 8 Mad) Llee Sy asy (1
i) 5ol jeday o ey asY (@

DY) b il el 38 55 g 485 5k Y (7
il g daSa ST pag ellaains LY (2

CAILal) Aad) L) ot ot 13l (8

Gl A lisa 5 llall daalise dpus (1
dabaiall Jy g 8 lllal) daaline (2
Labaidll ygai 8 Gl daalse (z

Galan o3 Y (3

AS i) elal Ba s (520 and 8 Ak (9

L) g e

(ROGIC) saitiwwall Juall il laa) e 2l ({

(ROCE)pxivsall Jul (ol 5 e 2ilall (o
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(ROGIC) sl dish Jdsl (2
b) Return on capital employed (ROCE) (ROE)Asldl 3 sia (o xladl (2
c) Long-term analysis
d) Return on equity (ROE)

10.) According to this module, how might you 0l e g L) ey (S ¢ a5l 031 a5 (10
impress your manager? )
c& Ui leiuy) sle a6 (

a) Present the ROl ahead of a purchase ) sle il LIS 35 (o

b) Take the time to calculate the ROI

<5l (e
c) AandB @YY (o
d) Neither A nor B
Module Five: Review Questions rAaldl) Bas gl) dxaf e
1) Which of the following is not a common T30 sall e B 8 55 ad b e 6l (1
type of budget? .
: g sl 4l e ()
a) Project budget i) 2 el / 528 A (s
b) Cash flow/Cash budget Al Al (2
c) Private budget Grsudl 4l e (o

d) Marketing budget

2.) Which type of budget estimates what Aalaiall Lebaativn Al Gl 5 puaall Ha5 A 01 Saall ¢ 53 e (2
expenses the organization will have for a sl (and
time? ZY) A e (0
a) Production Budget Clagsall 430 300 (0
b) Sales budget Sl 5 paall 43l 30e (2
) Expenditure budget G las oo V(2

d) None of the above

This document is a property of Asaseeyat Academy (Asaseeyat Academy is a service provided by Asaseeyat Consulting Service — COPY RGHT FROTECTED ©
©ihs sine adall (5 s - (R LiiuY) landll il AS 55 e Aedis Fadd clnlid $paST) Slaulil GuanlSY @l 285 5l) o3a

18



4 nn o
Mseeyat
cademy

Optimizing e-Learning

3.) The SMART technique for setting goals o g gl o i ilaaY) aaail SMART bl (3
implies that the goal should be: 1Oy
a) Specific, Measurable, Attainable, Ao e ¢ Ayl g ¢ (Gaaill AL ¢ Al A4S ¢ saaae (]
Realistic, Time driven <l
b) Special, Measurable, Appealing, 8 gl Ao ghae ¢ Agadly ¢ Alaa ¢ (ulall AL ¢ Aala (o

"é.us.a: ¢d3.n.qc&_1\dacu.u\_\sﬂd.1\§séd (J

Realistic, Time driven

c) Specific, Magnetic, Attainable, Realistic,
Tactical

d) Smart, Measurable, Appealing,
Representative, Tactical

4.) Which of the following is not necessary P Saall 2 4y e Sl slae 2y ¥ L L 61 (4
information for starting a budget?
a) Money )
b) Goal L.M‘ (
Gaxgl (<
c) Cost il (z
d) Means sl (3
5.) Which of the following IS NOT an area that A el (3 8 alady O camgy Yl G b les 6 (5
a budget team would necessarily include? 502l
a) Sales Cilagall (]
b) Accounting Ll (@
¢) Human resources i s (2
d) Top administration officials Y1 Calspmall LS (3
6.) What should the team members do once Tagili) 3y Gl eliac] alady o a3 e (6
they are established? adlalia (ye bl e i agia IS e ny
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a) They should each submit budgets from

their areas

b) They should all be able to do equal
assignments

¢) They should do anything that attracts
them

d) None of the above

7.) Which of the following elements is not a

part of the most common form of a
budget outline?

a) Categories

b) Difference

¢) Actual

d) Similarities

8.) Which of the following elements is not a

9)

part of the most common form of a
budget outline?

a) Categories

b) Difference

¢) Actual

d) Similarities

are critical for businesses.

a) Income statements
b) Reports

c) Budgets

d) Cash flow statements

A gluia aleas bl e 0 538 Baea 15868 o A (@

e oo gl b O s (2
d—‘“wﬂs‘:‘y (J

& 5o Y JSE (e 13 3o Gl AU jualiall (e 6 (7

a0 el aladdl

el (i
Sl (<
e N(a

alall aa gl (o

Llad e sud JSYI IS e 12 3o Gud A palial) e 61 (8

93 Sall

cladl) (i
Sl (@
= (z

alallaagl (2

Jee U daga (9

Jaall el (i
SN (@

bl el (7

@l il iy (2
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10.) Which type of budget estimates Aliioad) lagall ol 5,08 4 jall (e g 53 (51 (10
future sales. o
a) Marketing fﬁ: S,
b) Sales &j):*;.d\ ((C
c) Project iy puad) (3

d) Expenditure
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Module Six; Review Questions

1.) Which of the following reasons IS NOT a
factor that makes using historical data so
helpful?

a)
b)

The historical data show the past trends
Using historical data can halve the work
and efforts

Historical data can be incorporated in
budget report and justify the budget
Historical data can help you determine
certain budget numbers

2.) Which of the following reasons IS NOT a
factor that makes using historical data so

helpful?

a)
b)

The historical data show the past trends
Using historical data can halve the work
and efforts

Historical data can be incorporated in
budget report and justify the budget
Historical data can help you determine
certain budget numbers

3.) Which of the following reasons IS NOT a
factor that makes using historical data so
helpful?

a)
b)

Q)

The historical data show the past trends
Using historical data can halve the work
and efforts

Historical data can be incorporated in

sdiualed) Bas gl daa) je

Gl aaid Jass Sale G A1 L) e sl -1

Caglall 1ae Ay Uil

Lpalal) clalasy) 4y Hull el ek (i

Jardl (aid ) 4 Ul bl alasiind sa o (Sa (<
caaill ) agealls

s i el 8 A il i) 15 oKy (2
A jual)

A jia elﬁ_j SYREN QU I WE | G G P KV e o oS (2

ibama e ity Al L) AaATLY RSl el s L (2
$48 5500 e
A IS s il (]
daral) JSLEQ) (mms s of (S (@
S il L G daa L) Y ¢ il e i Y (2
(o Laa ;@3 Y (J

i Al Ll Jalail way ¥ L Lee 6 (3

Gl Clalail (i

Adliall (<

Lpapdaiill Lladl) (£

bl daal po A (e 2025 ) Cheaall 55800 Lalds (2
Aadanall 400
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budget report and justify the budget
d) Historical data can help you determine
certain budget numbers

4.) Which of the following reasons IS NOT a A ) ULl aladiil Jrsy Sdle G U L) (e 1 (4
factor that makes using historical data so Rl e

helpful? .

a) The historical data show the past trends Jaall i ) Aoy i) il A3l 535 of (St (o

b) Using historical data can halve the work Caaill ) 3 seall
and efforts S Al el 5 8 Ay jlall i) #1500 (S (7

¢) Historical data can be incorporated in Al el
budget report and justify the budget A5 e a1 pans (8 Tty il i) e s us—“ (2

d) Historical data can help you determine g

certain budget numbers

5.) Which of the following reasons IS NOT a A3l ULl sl Jesg ke G 6D Gl (e 6l (5
factor that makes using historical data so Tall 12
helpful?

o dualall L) dpa Ul i) jekas (I
a) The historical data show the past trends

Jaall mia ) da ) i) alasind o of (S (@

b) Using historical data can halve the work Caaill 3 5eall g
and efforts s Al el 55 8 A S i) 21 50 oSy (2

) Historical data can be incorporated in 433 juall
budget report and justify the budget Al 3 ol it (8 Al i) el ¢ oS (0

d) Historical data can help you determine e

certain budget numbers

6.) Which of the following reasons IS NOT a A U Ll aladia Jasg Slale e 20 ) e 61 (6
factor that makes using historical data so el ke

helpful? ‘
P Al calalany) dd, ) clilall e las ()
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a) The historical data show the past trends

b) Using historical data can halve the work
and efforts

c) Historical data can be incorporated in
budget report and justify the budget

d) Historical data can help you determine
certain budget numbers

7.) What steps does the RADAR technique, for

putting the budget together, imply?

a) Rationalize, Acquire, Develop, Assess,
Report

b) Research, Assess, Debate, Acquire,
Report

c) Reach, Affirm, Develop, Adopt, Reaffirm

d) Research, Acquire, Develop, Adopt,
Report

8.) Who gives the approval of the final
budget?
a) CEO
b) Board of Directors

) CFO

d) The manager

0

9.) When it comes to computer programs,
they usually:
a) Make things more complicated
b) Mix up the data

Jaall (add ) dod )l clibal) alasiu) g2 o oS (<
caaill Jlagealls

s A el 8 (8 Aadn )l UL ) )3 (S (7
4 )

a3 e ("GJi st ddy ) il elae Lus o oS (2
Adxa

il ¢ RADAR i Lgdle (5 kit il ol shadll o o (7
931 el

}Jﬁcﬁﬁsﬁ)ﬁ‘uhﬁs\cdﬂ.&f (i
_).I)Sﬂ\j u\.mS‘}I\Ja.&ahA\_s e.\.\AJNN ‘j L_\A.‘Jz. ‘(Q_I
Jﬂ)&ﬁ\}d@cy“j_ﬁ.)ﬂ\jk—\my‘_gw‘ (.J

T 2531 pall o G pall a3 (10 (8

R
5 ylaYy) odaa (t_l
Sl (z

ﬁd.d\ (J

e Ledld ¢ i el gral o saY) 3laty Loie (9

b Ll (o
seliS S5 Jeud 3a¥) o (2
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¢) Make things easier and more efficient I IS8 Jaall aais B (2
d) Do the half of the work automatically

10.) Which of the following is not listed € 8 sl el 00 58S sl )y s o L Lee 1 (20

as a benefit of computer programs? ; ;
Clall slaal i (]

Dzl 5 Al o sl (<

a) Reduced calculation errors

b) Graphs and visuals

c) Automatic creating of budget
d) Reporting features

Module Seven: Review Questions ralad) Bas gl) el e
1.) Which of the following statements is true? fmma L) ) e 51 (1
a) Any kind of forecasting technique is a Aol o s 3l L e g gi sl (]
guarantee for success claill o o ) L oany (o
b) Some of the forecasting techniques are ke dauld 3lal aladind (Klg ¢ Jlava & A a8 Y (g
a guarantee for success Gualaa el Y (2

c) No technique is a guarantee, but using
a standard tool is helpful
d) None of the above

2.) When you do the averaging of historical alaaial # yigd ¢ dpa ) bl Jau sie Gl o 585 Ledic (2
data, it is suggested to use the data from: 1Oe Ll
a) Past five years galdl ueddl il gl (1
b) Past year bl el (o
c) Past ten years bl jlall Gl sidl (2
d) Past seven years dpalall pd) @l gl (3
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3.) Why do we use the regression analysis € olaad¥) Jilas 81 e 13 (3

tool? ]l il el dcniing (i
i) ailly SECI R

a) We use it for predicting the future
values

b) We use it for sorting the past values

dpzalall adll il 4eaiing (@
L) 2l e W (£
dm\.u\t;uafay (J

¢) For ascertainment of current values
d) None of the above

4.) What kind of a tool is the regression €l ilas slaf o 51aY) ¢ 53 Le (4

analysis tool?

j

a) Practical LA& (

. Lokl (@

b) Thegrgtlcal ¥l (z
c) Statistical .

LE DUV (J

d) Combined

5.) What kind of tool is the extrapolation tool? To) EuY) 3lal 8 3laYl ¢ 5 la (5

a) Statistical

sbaay) (i
b) Mathematical by ) (o
¢) Logical el (
d) Theoretical Akl (o

fe ) JEiuY) 3lal Leading Al byl ¢ 5L (6
tool use? Aol bl (§

a) Historical data sl i) (o

b) Current data A yidall liiaall Cllal (2

c) Assumed future data Aranall 2L (2

d) Combined data

6.) What kind of data does the extrapolation
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7.) Who uses the formal financial models?
a) Anyone
b) Investors
c) Managers
d) Accounting

8.) Which of the following is not a formal
financial model?
a) Profitability index
b) Equivalent annuity
c) External rate of return
d) Internal rate of return

9) is essential to assessing how much the

budget should be.

a) Indexing

b) Scheduling

c) Forecasting

d) None of the above

10.) When forecasting, you may need to factor

in

a) Inflation

b) Taxes

c¢) AandB

d) Neither A nor B

Fsans 1) ALl el p2kiens (ga (7

O i) (@
Gl (z
Ll (2

Lany Wle B3 gas Gl L Las 51 (8
Ay ) yi5e (|
Asleal) BLEY) (o

‘;s\s\ Aladl Jaza (2

OS8O g U A0 Jaal) aas il (g ) 5 puia 9
Luedll (0
Al (@
(2

é.w\.ucsﬁly (J

Bb\f&}cﬁ;ﬁﬁ‘yﬂ\m(lo
adazdll (
il il (o
&.—1‘)3 (z
t,—!Y)\y (2
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Module Eight: Review Questions

1.) Which of the following IS NOT a helpful
step for checking if you are on the right
track with your budget?

a) Citing reasons for positive or negative
variances

b) Classifying reason as a trend or unique
incident

c) Collecting figures as they become
available

d) Comparing the expected numbers with
budgeted

2.) Which of the following statements is true?

a) Giving other individuals responsibility
over certain areas of the budget is not
reliable procedure

b) Giving other individuals responsibility
over certain areas of the budget is
helpful

c) Giving other individuals responsibility

over certain areas of the budget relieves

you from responsibilities

d) Giving other individuals responsibility
over certain areas of the budget can
make things complicated

3.) Which steps does the TAKE process imply?
a) Tell, Acquire, Keep, Evaluate

-A0al8l) Saa gl dea ya

Jw\gsaﬁ\hjwéuﬂsws#%\y&wéi (1
i) jaey (3laty L msiall

Aald) o dlady) B land S5 (]

38 il ol oladl adl e cundl Cayias (<

Lisi 8 i Y aen (2

43 sally dadgiall Q8 Y1 A5 lae (2

?c_);.aa aul) LLI‘JL.\:J\ (e Lﬁ‘ (2

e Ama SV (3 AT A AT A el ellae) o) (1
43 B 5% 50 21 ) Gl 43l al)

O A C¥lae G o AY 30U A sl elae ) () (o
e el 4 33l

e Ame CYlae (3 AN A AV A yuse dlaia (2
Gl s gosall (o Sty 4350 Sl

L CYlae 0o AT 38N A gaall ellac) g2 8 (2
D581 483 ) A 3l e

fTAKE 4l Lile (5 5hii Al &l ghall o L (3

Hﬂckﬁn\&uuﬁs\‘)ni (i
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b) Tell, Act, Keep, Exchange
c) Think, Act, Keep, Evaluate
d) Think, Act, Keep, Exchange

4.) Why do we use the TAKE process?
a) For determining if the budget needs an
update
b) For conducting the budget update
c) For preventing the need of budget
update
d) None of the above

5.) What are the four R steps when addressing
an issue?
a) Review, Rationalize, Record, Repository
b) Review, Reevaluate, Report, Repository
c) Rearrange, React, Record, Repository
d) Review, React, Record, Repository

6.) Which of the following statements IS NOT

true?

a) Adiary or journal helps you keep
pertinent information for future

b) Information from diary or journal can
be used for existent and future budgets

c) Adiary orjournal is helpful, but not
practical, since it takes too much time

d) A diary or journal can help you avoid
the previous mistakes

u_)mc.ksﬁa\su)mﬁsﬁi(u
ﬁﬁckﬁh\cu_)@")ﬁ(c
dd\.ﬁc.l:'aéﬁ;\sk_i)aﬁc_)ﬁ(d

STAKE 4lee 223t 13 (4

Capaa ) dalag 4 el il 1Y) L sl (1
Al jaal) Cyant ol Y (&
4 jaall Cwaad ) dslsll aidd (z

Galaa s Y (3

fle Ao dallas 2ie a ¥ R @isha o L (5

g3 siaal) 5 Jpnnaill 5 203 il g daal yall (]
&JM\ ¢ ‘):\)s.\l\ ¢ e.usﬂ\ sale) ¢ 3\:;\)4}\ («_1
g siuall ¢ Jaanall ¢ Jelaill ¢ s il sale) (2
g siuall ¢ Jaandll ¢ Jeldl) ¢ daal yall (2

1 Sl sleally Bliia¥) e el dae ol Glaasy (|
Juioedll ALl

il pall Al il S3al (e e shaall aladiinl (Say (2
Al Al

LY dalee Cul LS5 3ade Gl gl 5 Gl (2
gl ) (5 i

ehaall caind e Gle sl f il sl daelas o oKy (2
AL
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7.) Which of the following IS NOT an external Ua A Laplait 5l ol Gy i Y b lae 61 (7
economic or regulatory situation? Yl (i
a) Strike B (il 8 (o
b) New Laws o=l (z
c) Shortages S (2
d) Recession
8.) Which of the following IS NOT a reason for ?e 3 G G b Lae 61 (8
panic? LS 51 Sl 5 s e ¢ daliiall Jals S (]
a) Problems within an organization, such O3l
as property loss or inventory shrinkage Laulad) elaay) (<
b) Accounting errors sl asd (2

052828 5528 A 3l 5 (3 Gl 4 ey s (3

¢) Upcoming deadlines e
il g b !

d) A situation when variance on the
budget report shows a huge gap
without any visible reasons

9.) Once the budget is determined, it is Glasal L la) (55wl e ¢ Al all wast 3 jaa (9
essential to manage it to ensure

Problems within an organization ar .
a) Problems within an organization are el J2ls JSLaa) ass (1

defined domadall CaISHL and JS o3l (o

b) Each department adheres to allotted <l (z
costs @YY (o
c¢) AandB
d) Neither A nor B
10.) From the TAKE acronym, what does the A ¢ At all Jae e « TAKE Uit 02 (10
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stand for? ;
a) Admitting e (
b) Accounting mﬁ: (<
c) Act il ((GJ
d) Attitude

This document is a property of Asaseeyat Academy (Asaseeyat Academy is a service provided by Asaseeyat Consulting Service — COPY RGHT FROTECTED ©
©ihs sine adall (5 s - (R LiiuY) landll il AS 55 e Aedis Fadd clnlid $paST) Slaulil GuanlSY @l 285 5l) o3a

32



4 nn o
Mseeyat
cademy

Optimizing e-Learning

Module Nine: Review Questions sAauldl) 3aa gl Aaa ya

Lea sk of Gany 1 3 el ALY G (e ol b Lee 61 (1
5158 o) i Jd cluds e

) 33 5l dzia (I

il s 5l b yuali (@

?&Ac;u._\cw)‘ai\d\\&dﬁydé (G
$ paiall e Lty A€o Ja (A

1.) Which of the following IS NOT among the
10 questions you have to ask yourself
before purchasing a decision?

a) Make or buy it?

b) Lease or buy it?

) s this item going to reduce my
workload?

d) Can you do without the item?

2.) Which of the following IS NOT an element Ly sl Jsa Jisadl A ) aie Jia Y b e 6l (2

of the question about the additional costs Tel Ly dilaial
related to the purchase? dasdl (i
a) Labor aladall aai (o
b) Catering 4kl Gl (7
c) Peripheral equipment Jall

d) Transportation

3.) When we divide the cost of purchase by
the annual cash inflows the purchase is

a8 g Al Ay i) dgaml) sl e o) Al A8SH s Ladie (3
:\A,_\:\.\]\ OS¢ c\)—uﬂ\ J)ﬁjui

projected to return, the result is: 3 il A 3 dagdll  (f
a) Time value of money A ) (@
b) Profitability G S Jas (2
) Internal rate of return a8 (o

d) The payback period
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?@M Al LL\JL_::J\ g% Lﬁ‘ (4

4.) Which of the following statements is true?

a) The payback period is meant to help
you make a quick determination about
the purchase you are considering

b) The payback period is meant to help
you make a quick determination about
anything

c) The payback period is meant to help
you analyze already conducted
purchases

d) The payback period is meant to help
you analyze any kind of already
conducted financial action

5.) Which of the following IS NOT an

advantage of leasing?

a) You do not have to expense the
depreciation

b) Some types of leases can bring a tax
advantage

C) The lease always relieves you from all
the expenses

d) You can conserve the money and use it
for other business activities

6.) Which of the following is not convenient
for leasing?

fom DR AT 8 el ) ol i) 5 8 Cangs (I
b SE (il o)yl ol

foms Dl AT 8 el ) ol jiuY) 8 58 Cingd (o
st gl oL

Gllee Julas 8 elidelua ) 2o i) 3 8 Caagd (7
Jaally a5l ja) &5 A oyl

e & 55 ) dalad  eliselie ) ol i) 5 58 Cangd (o
Jailly W35 o5 ) Ll el jaY)

¢l 8 300 Liiny ¥ b lee 61 (5

AN s Slle ey Y (1

Ay e 8 e At ) lagY) aske )il (and (K (<

ClE) aan (e Wil lag)) Sie eliny (7

Al el 8 Lgaladinl s J)se) e Blial) oliSay (o
Al

CiSbiadl 5 il (
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a) Buildings and property Q‘J\etd‘ (<«

b) Cars ‘L"ﬂ‘ (z
Cilasall

¢) Tools (2

d) Equipment

7.) What is Craig’s List? TS 4l (2 L (7
a) Auction House A3l s (i
b) Internet market i I gy (o
¢) Agency for selling the property of Alsial) Sl Dl o A8 (7
closing companies Aadl o) 5l jdaae dadE

d) A list of alternative purchase sources

8.) Which of the following is an Internet f iU B gas 22y Ly Lee 1 (8
market? Gb s (I
a) eBay g (<@
b) eBoy EBuy (z
c) eBuy (2
d) eBey
9.) When purchasing, it is always a good OS 13 Lo 3225 L2 3l g ¢ 61,5 e (9

practice to determine if

ey Gy (|

Ll dala (8 s i€ 1Y) (2
DY) 3aid Gl jeadll ClS 1Y (7
Gwlae s 3 Y (3

a) You can afford it

b) If you really need it

) If the expense is worth the investment
d) None of the above

10.) equipment has several Bueleld 000 Gl (10
o=l @Y (i
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advantages. gl (2
a) Borrowing l(a
b) Repairing el (3
c) Buying
d) Leasing
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Module Ten: Review Questions 15 _ydilal) Bas gl) Al ya

1) Which of the following acts helped reduce 55 il <oy Bl A13) 5f Qi (3 ae b 831 JadY) 000 (51 (1

or eliminate conditions, which affects the fln il Aadias 5 Al 4 e

public interest and the interest of the 1940 alad JLeiin¥) g e o 5id (I
investors? 1933 alad 4lall 31, 5Y1 ()58 (o
a) Investment Advisers Act of 1940 1940 plal JLaiiaY) 48,5 58 (2
b) Securities Act of 1933 1939 olad ppll et 0516 (3

¢) Investment Company Act of 1940
d) Trust Indentured Act of 1939

2.) What did Securities Exchange Act of 1934 1934 olal Ll (31,531 () 538 Jad 13 (2
do? el 31y V) am s pase Caadar (1
a) It requlated the offer and sales of Aalad) S il @l 1y Gl gaead ulae g (@
securities dasdiall Y 6l (8 danladll 53 5aY) IS L4
b) It set standards for all public company G oatlaall Ales 5 SIS AN sl B3 g2 (puad (g

board, management and accounting Satall s el Jie I 31530 (g ) )l (St (o
firms in the United States

) It improved ratings quality of
companies, protecting investors

d) It governed the secondary trading of

securities like stocks, and bonds

3.) Which of the following IS NOT an TSl S s 53 aad) aus¥) G b Lee 61 (3
alternative name of the Sarbanes-Oxley SOX (I
Act? Gl 5 S 3l e dlaad) 5 A 5 el 5 Aelisall ¢y 538 (0
a) SOX Sarbox (z
b) Corporate And Auditing Accountability Dafiunall dlen 5 dalad) SIS AN dpdae 23] 8 (2

and Responsibility and Protection Act
c) Sarbox
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d) Public Company Accounting Reform
And Investor Protection Act

4.) Which of the following does Sarbanes- fSarbanes-Oxley ¢si «aliiy ¥ L Les 51 (4
Oxley Act not regulate? 5 dae (1
a) Board of directors Lalall dpulaall @iS i (@
b) Public accounting firms Y (z
c) Management Gsoatinal) (2

d) Investors

5.) Which of the following does Sarbanes- ? Sarbanes-Oxleyo st 4ala ¥ L Lea il (5
Oxley Act not regulate? " t:jb;‘ o (!
. ]l sl Gls i
a) Board of directors i =8 (=
o) Publi fing f Y (¢
) Public accounting firms Osoiiad) (3
¢) Management
d) Investors
6.) Which of the following IS NOT a el s Al )l il (e Gl (S Lee 1 (6
requirement of CEO’s and CFO's reports? fl
a) The signing officers are responsible for e Lliall g oLl e s adisill e Ol gl (]
establishing and maintaining internal Aall) Ly szl
controls il 1Y) Lo (A a8l 8 aad al) e (8l g el lal (<
b) The signing officers have indicated in L el ”Xi\u\ j’*‘}"‘l‘j&ﬁ s “ﬂt
: S s giny Y ¢ Jadlial) 4 (2
the report whether or not there were O gl olo ol s ' et K (€
ignificant ch in internal control Lal =
significant changes in internal controls Lol fuing jal) T shatl ey o8l Sl o3l (2
c) Based on the officer's knowledge, the Lalaiall Auldindl)

report does not contain any untrue
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statement

d) The signing officers are obligated to
draw an outline of the organization’s
future plans

7.) The 8" Company Law Directive is: po S il () el Galil) a5l (7
a) An extension of the Sarbanes-Oxley Act 2002 el LSl S s 58l el (]
of 2002 2002 plad oS5l 3 gl 0538 (g g 5Y) 2aall (@
b) The European version of the Sarbanes- 2002 abad S ol 3an s (5308 e 4y el A3 (2
Oxley Act of 2002 2002 plad S5l il 38 adbia alle o586 (3
c) Asian version of the Sarbanes-Oxley Act
of 2002
d) A universal Act similar to the Sarbanes-
Oxley Act of 2002
8.) When was The 8" Company Law Directive TS i) () 5al Galill s sl (s s (e (8
enacted? 2002 (“L‘: L.g (\
a) In 2002 2006 s i (<
b) In 2006 2013 5= & (2
¢) In 2013 2000 ¢le & (2
d) In 2000
9.) Which of the following IS NOT something € 23S 4 jpaa ) ZUs3 Y b Lee (61 (9
you need to know as a manager? Oe (sl 4l 3 L (I
a) What does a certain law require O 518 2 5y 13 (o
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b) Why a certain law exists i gall ge Jalai S (2

¢) How you factor into the situation Al L] s platiud 28 (2

d) How to use legal remedies

10.) When the laws aren’t followed, the b Ly AS Al 58 Le Bale ¢ il 8l ¢ L) o5 Y Leie (10
company usually: e iy gyl b i gl 2]y e il Jglay (I
a) Tries to cover it up and fix the situation dad 5 il o e Sl (@
as soon as possible Jeldhy A5 3 ll) (i) gl sy (#
b) Suffers severe consequences Gualae e Y (2

c) Waits for extreme consequences and
then reacts
d) None of the above
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